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1) This is always true. Possible examples:

910

5+100=0.08

25-100=025

Children’s explanations should show an understanding that when a 1-digit number is divided by 100, there
will not be a digit in the tenths column. However, a 2-digit number will always have a tenth. This means that
@ 2-digit number divided by 100 will always be greater than o 1-digit number divided by 100.

2) ) Shona's number i 0.65. Leo's mumber could be 0.45, .66, 0.47, 0.48, 0.49, 0.50 or 051 50 Lea's
number could be greater or smaller than 0.43. There is not enough information to say wh has the greater
number. Shona is correct.

1) One of thefollowing
49100049
50-100=050

51:100-051
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1) Khatija has made numbers on place value grids. To divids each number by 100, she has moved the
counters and written the answer. Complets the diagrams and writs the calculations. The first one has

2

been done for you.
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3) Use this rule to find the missing numbers. Draw place value grids f you need to

@) 2:100= b) 72100 =

9 <100 =000 |¢) 34 = 100

¢ 98100 1) 60 =100

9 100022 k) - 100052
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When a 2-digit number is divided by 100, the answer will always
be greater than when a I-digit number is divided by 100.

1) 15 this statement always, somtimes or never trus? Give & examples to show why you think this is 50 and explain
your decision.

2) Two children are thinking of a number

The number T'm thinking of s || My number is between

100 times smaller than 45. 045 and 051

Shona Lo

@) Leo says that he defintely has the greater number. Shona says that you can't say who has the greater number
from the information given. Wh s correct? How do you know?
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b) 1f Leo does have the greater number, what number divided by 100 could give his answer?
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E)

2) To divide a number by 100, the digits move
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2) To divide a number by 100, the digits move
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